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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence.

Then mark the correct choice on your answer sheet.

1-  The geology student made a surprising discovery; the volcano believed to be ......... was
about to erupt.
1) dormant 2) temporary 3) affable 4) vulnerable
2-  We waited for the storm to ........... before we left.
1) abase 2) abide 3) abridge 4) abate
3-  The minister desired the position simply for the .......... associated with it.
1) scope 2) status 3) origin 4) feature
4- The........... researcher made sure to check her measurements multiple times.
1) initial 2) vague 3) diligent 4) apposite
5- Denver’s impractical plan to build a subway system was .......... in 1970s.
1) surmised 2) scrapped 3) strived 4) scattered
6- e such as hair color and eye color are inherited genetically from one’s parents.
1) Traits 2) Dimensions 3) Omens 4) Enigmas
7-  The company has ........... $1000 to the team to get the project started.
1) ascribed 2) bestowed 3) deposited 4) allocated
8-  After a week the jury had still not reached a ............ .
1) status quo 2) sequence 3) verdict 4) suspect
9- Heavy rains had .......... the expedition’s progress through the north-west of the country.
1) abandoned 2) hindered 3) evaded 4) distressed
10- The rattlesnake is the most ............. snake in the Untied States.
1) venomous 2) zealous 3) haphazard 4) ancestral

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
| (4) best fits each space. Then mark the correct choice on your answer sheet.

The ancient Romans built an extensive and (11) ......... to serve their needs. The Roman road-
building era began in 312 BC. The roads provided economic and military access from Rome to
distant parts of its far-flung empire. The first road (12) .......... the Appian Way, which led,
from Rome to Brundisium (now Brindisi), a port (13) ......... is now southern Italy. The
Appian Way was the main route to Greece, and it ran over 560 km (350 mi). A second road,
from Rome to Naples, provided the first stage of the route (14) .......... by troops headed to
Africa. Roman advances in road-building techniques included preparation of foundation soils
and base courses, brick paving , and, (15) ........... provision for adequate drainage.

11- 1) roads of durable system 2) system of durable roads
3) durable system of roads 4) durable road of systems

12- 1) was constructed 2) was to construct
3) that was constructed 4) constructed was

13- 1) in which it 2) in what 3) where is 4) which it is

14- 1) used 2) using 3) be used 4) was used

15- 1) the more important 2) most important

3) the most important 4) most importantly
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PART C: Reading Comprehension
Directions: Read the following two passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
our answer sheet.

16-

18-

19-

20-

Passage 1: ,

A tremendous amount of change has occurred in the field of operations since 1990.
International competition has become fierce and spread to a number of industries. Third world
countries are becoming more competitive. Manufacturing technologies such as flexible
manufacturing systems (FMS) and robots have become commonplace, and the benefits they
bring-lower cost, better quality, shorter lead times- have over whelmed the market place.
Operations strategies have become paramount for firms to compete in the new world-class
levels of competition. Computers, particularily personal size, have invaded organizations and
homes alike. Quality levels have improved by one or two orders of magnitude, and customers
are demanding this higher levels of quality in the products they purchase. Prices for high
quality goods have been kept down through the mew manufacturing technologies and concepts
such s just-in-time production and group technology. Productivity continues to play a major
role in the cost competitiveness of all products and services.

The passage implies that from the year, 1990:

1) Production qualities are changing rapidly.

2) The fields of operation have had remarkable changes.

3) There is little amount of change in the field of operations.

4) The new fields of operations are the same as previous fields.

According to the passage:

1) FMS manufacturing systems are using robots.

2) Robots and FMS systems are not costly.

3) FMS & robots are being used more and more in industry.

4) Robots have better quality than other equipments.

The passage implies that:

1) Operation strategies are at world-class level.

2) Firms do not need strategies for competition.

3) Firms not to compete at world-class level.

4) Firms need to set their strategies in order to compete at world-class level.
According to the passage:

1) The cost-competitiveness plays an important role in industry.

2) All products and services are cost-competitive.

3) Productivity is an important parameter for products and services to become cost-
competitive.

4) Industries must continuously increase the role of productivity in their activities.
The passage implies that:

1) High quality goods are produced at low prices.

2) Low quality goods are produced at high prices.

3) Low quality goods are produced at low prices.

4) High quality goods are produced at high prices.




21-

22-

23-

24-

25-

26-

Passage 2:

The routing and scheduling of vehicles and their crews is area of increasing importance. In this
paper, we describe a large scale vehicle scheduling and routing problem which of great
importance to parcel distribution companies. We devise a Breeder Genetic Algorithm capable
of dealing with up to 10,000 transportation requests to be serviced by an inhomogeneous fleet
of vehicles within a 24 hour time interval. A transportation request is defined as the task to
move a loaded container from one depot to another. Since the depots do not send out the same
number of containers as they receive, the amount of empty containers available at the depots
has to be balanced. The optimization task, therefore, is twofold: determine appropriate balance
tours and find a low cost schedule for the fleet of vehicles.

According to the passage two, what is essential for companies which distribule parcels?
1) Their fleet of vehicles.

2) Moving a genetic algorithm

3) dealing with 10000 requests of service.

4) Solving problem of routing and scheduling vehicles.

Which of the following is closer to the passage two’s problem?

1) Parcel distribution.

2) Moving a Breeder Genetic Algorithm.

3) Routing and scheduling of vehicles and that crews.

4) Dealing with 10000 trans protadon request.

What is the author’s claim according to the passage two?

1) They defined a transportation request.

2) Their work is within a 24 hour time.

3) They say that their depot has to be balanced.

4) They developed a Genetic Algorithm which is able to deal with a large number of request.
According to the passage two, what is the task of optimiting?

1) Minimizing cost of the scheduling and balancling tours.

2) Serving an inhomogeneous fleet of vehicles.

3) Minimizing amount empty contales.

4) Devising a Breeder Genetic Algorithm

What is a transportation task according to the passage two?

1) requesting a transportation task.

2) Moving a loaded container from one depot to another.

3) Routing and scheduling of vehicles and their crews.

4) Balancing the amount of empty containers of the depot.

This engineering discipline is concerned with the development, implementation and
evaluation of integrated systems of people, money, knowledge, information, equipment,
energy, materials, analysis and synthesis.

By reading this short text, make sure to select the most relevant & appropriate
alternatives amongst those stated below in line with the text:

1) It does deal with integrated systems rather than discrete ones.

2) This discipline deals with more research affairs than academic ones.

3) The information is the most vital ingredient of this engineering discipline for success.

4) The research & development affairs are more pronounced than he scientific developments.
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It relies on mathematical, physical and social sciences together with the principles and
methods of engineering design to specify, predict, and evaluate the results to be obtained
from such systems or processes.

By reading this text makes sure to select the most corrected statement in line with it in the
following alternatives:

1) It deals more with processes than the systems.

2) It contradicts the capabilities required in multidiscipline engineering systems.

3) Knowledge of mathematics is the most vital issue for this branch of engineering.

4) Getting approval of the validity of engineering outcomes is amongst is amongst the main
core of this discipline.

Modern computer use relies much more heavily on the application of standardized
platforms and products, such as the many general-purpose tools available today under
Linux and the Microsoft operating systems. The bolded statement in this paragraph
refers to a required qualification for those who want to act as professionals.

Select one of the following alternatives as the appropriate answer can be extracted from
this content: organizations have more off-the-shelf solutions available, and utilization of
the computer is a job requirement for most professionals.

1) Having access to the available solutions.  2) Being capable of computer utilization.

3) Knowing their job requirement. 4) Having off the shelf solutions.

The following statement refers to a noticeable occurred alteration of the working
environment. Which of the following alternatives defines it more appropriately? Tasks
that once would have required a small development team are now tackled by a collage
intern using Microsoft Excel. The result has been a trend toward smaller IT staffs and
smaller development projects.

1) The type of software is altered.

2) The workforce requirement is altered.

3) Development teams have lost the ground.

4) The work is directed to a more professional environment.

In the following bolded statement, what is the main impact of rapid prototyping as a
referred technique? With larger projects, techniques like rapid prototyping have
shortened development project timelines, placing a priority on quick results with iterative
refinement.

1) Reducing the result’s priority. 2) Raising the number of iterations.

3) Reducing the project time lines. 4) Reducing down the results generation time.
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1 1 26 1 51 1 76 4
2 4 27 4 52 2 77 4
3 2 28 2 53 3 78 1
4 3 29 2 54 3 79 3
5 2 30 3 55 2 80 3
6 1 31 3 56 1 81 2
7 4 32 3 57 1 82 1
8 3 33 1 58 1 83 1
9 2 34 2 59 4 84 4
10 1 35 3 60 4 85 4
11 3 36 2 61 1 86 4
12 4 37 2 62 4 87 3
13 2 38 2 63 2 88 3
14 1 39 3 64 3 89 2
15 4 40 1 65 3 90 1
16 2 41 4 66 4 91 1
17 3 42 2 67 4 92 2
18 4 43 1 68 3 93 3
19 3 44 1 69 1 94 4
20 1 45 3 70 2 95 4
21 4 46 4 71 4 96 3
22 3 47 1 72 2 97 1
23 4 48 4 73 2 98 3
24 1 49 2 74 3 99 2
25 2 50 2 75 2 100 4
Jlow oyloss|  cumo @S o o)los | o awsS | | Jlow ojlos | aueo awsS Jlow oylocis | cumo s
101 4 131 161 191
102 2 132 162 192
103 2 133 163 193
104 3 134 164 194
105 1 135 165 195
106 1 136 166 196
107 4 137 167 197
108 2 138 168 198
109 3 139 169 199
110 2 140 170 200
111 3 141 171 201
112 3 142 172 202
113 4 143 173 203
114 1 144 174 204
115 3 145 175 205
116 2 146 176 206
117 2 147 177 207
118 3 148 178 208
119 1 149 179 209
120 1 150 180 210
121 151 181 211
122 152 182 212
123 153 183 213
124 154 184 214
125 155 185 215
126 156 186 216
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127 157 187 217
128 158 188 218
129 159 189 219
130 160 190 220

g 0ybo] o S | | s oybois | anmo asS | | Jlgaw oot | o aisS Jlgw oplos | oo S
221 251 281 311
222 252 282 312
223 253 283 313
224 254 284 314
225 255 285 315
226 256 286 316
27 257 287 317
228 258 288 318
229 259 289 319
230 260 290 320
231 261 291
232 262 292
233 263 293
234 264 294
235 265 295
236 266 296
237 267 297
238 268 298
239 269 299
240 270 300
241 271 301
242 272 302
243 273 303
244 274 304
245 275 305
246 276 306
247 277 307
248 278 308
249 279 309
250 280 310

Jlow o)loi| auxo ausS Jlgw o)l | auxo auS Jlgw o)l | aumo aiyS Jlow o)lois | gumo aiS
1 1 26 1 51 4 76 4
2 3 27 3 52 2 77 4
3 2 28 2 53 3 78 1
4 4 29 2 54 3 79 2
5 2 30 4 55 2 80 2
6 1 31 3 56 4 81 3
7 3 32 3 57 1 82 1
8 4 33 1 58 1 83 1
9 2 34 4 59 1 84 4
10 1 35 3 60 1 85 4
11 4 36 4 61 4 86 4
12 3 37 4 62 1 87 2
13 2 38 4 63 2 88 2
14 1 39 3 64 3 89 3
15 3 40 1 65 3 90 1
16 2 41 2 66 1 91 1
17 4 42 4 67 1 92 3
18 3 43 1 68 3 93 2
19 4 44 1 69 4 94 4
20 1 45 3 70 2 95 4
21 3 46 2 71 4 96 2
22 4 47 1 72 3 97 1
23 3 48 2 73 3 98 2
24 1 49 4 74 2 99 3
25 2 50 2 75 3 100 4

Jlgw o)locs| oumso aysS Jlgw o)locss | zumo aiysS | Jlgw o)locss | oumo aiysS Jlgw o)locss | oumes aiyS

101 4 131 161 191
102 3 132 162 192
103 3 133 163 193
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104 2 134 164 194

105 1 135 165 195

106 1 136 166 196

107 4 137 167 197

108 3 138 168 198

109 2 139 169 199

110 3 140 170 200

111 2 141 171 201

112 2 142 172 202

113 4 143 173 203

114 1 144 174 204

115 2 145 175 205

116 3 146 176 206

117 3 147 177 207

118 2 148 178 208

119 1 149 179 209

120 1 150 180 210

121 151 181 211

122 152 182 212

123 153 183 213

124 154 184 214

125 155 185 215

126 156 186 216
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129 159 189 219
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221 251 281 311

222 252 282 312

223 253 283 313

224 254 284 314

225 255 285 315

226 256 286 316

227 257 287 317

228 258 283 318

229 259 289 319

230 260 290 320

231 261 291

232 262 292

233 263 293

234 264 294

235 265 295

236 266 296

237 267 297

238 263 298

239 269 299

240 270 300

241 271 301

242 272 302

243 273 303

244 274 304

245 275 305

246 276 306

247 277 307

248 278 308

249 279 309
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1 2 26 2 51 3 76 3
2 4 27 4 52 2 77 3
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4 3 29 1 54 1 79 4
5 1 30 3 55 2 80 4
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7 4 32 1 57 1 82 1
8 3 33 3 58 1 83 1
5 1 34 2 59 4 84 3
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10 2 35 1 60 4 85 3
1 3 36 2 61 1 86 3
12 4 37 2 62 4 87 4
13 1 38 2 63 3 88 4
14 2 39 3 64 2 89 2
15 4 40 3 65 2 90 1
16 1 41 4 66 2 91 1
17 3 %2 2 67 4 92 2
18 4 43 3 68 2 93 4
19 3 44 3 69 1 94 3
20 2 45 1 70 3 95 3
21 4 46 4 71 4 9% 4
2 3 47 3 72 2 97 1
23 4 48 4 73 2 98 2
24 2 49 2 74 4 99 2
25 1 50 2 75 2 100 3
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101 3 131 161 191
102 2 132 162 192
103 2 133 163 193
104 3 134 164 194
105 1 135 165 195
106 1 136 166 196
107 3 137 167 197
108 2 138 168 198
109 4 139 169 199
110 2 140 170 200
111 3 141 171 201
112 4 142 172 202
113 3 143 173 203
114 1 144 174 204
115 4 145 175 205
116 2 146 176 206
117 2 147 177 207
118 4 148 178 208
119 1 149 179 209
120 1 150 180 210
121 151 181 211
122 152 182 212
123 153 183 213
124 154 184 214
125 155 185 215
126 156 186 216
127 157 187 217
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1 1 26 L 51 4 76 4
2 4 27 4 52 2 77 2
3 3 28 3 53 3 78 3
4 2 29 3 54 3 79 1
5 3 30 2 55 2 80 1
6 1 31 3 56 4 8L 2
7 4 32 3 57 1 82 3
8 2 33 4 58 1 83 3
9 3 34 2 59 1 84 4
10 1 35 3 60 4 85 4
1 2 36 2 61 2 86 1
7 4 37 2 62 2 87 1
13 3 38 2 63 1 88 1
14 1 39 3 64 3 89 2
15 4 40 4 65 3 90 3
16 3 41 1 66 4 91 3
17 2 42 2 67 4 92 2
18 4 43 4 68 3 93 1
19 2 24 4 69 2 9 2
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